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1 | 6178 |:EERIAEL (@) ERIRET %S | AR FTRAI7ILE 1.05 1475 RE
2 | 6R178|TEIRERER (E#) ERIRET %S | AR FTRAI7ILE 0.79 |147%E
3 | 68178 |/ \R{=H] BRIRETZE |=iEK FAI7ILE 0.74 (1475 RE
4 | 68178 | AT ERIRETZ S |18 Bk TRAI7ILE 0.71 [147%E
5 | 68178 |/\RZ/I ERIRETRBE |HRAE TRAI7ILE 0.46 |147%E
6 | 68178 |/ \R{Z/I ERIRAT R RE |F8IR TRAI7ILE 0.46 |147%E
7 | 68178 |/ R4 ERIRET R AE (BB K FTRAI7ILE 0.51 [147%E
8 | 6R178|/\R{ZHI ERIRET B RE |82 HIR FTRAI7ILE 0.48 |147%E
9 | 6BA17H|EBHFREFAMN ERIRETEAE | R FTARAI7ILE 0.44 (14755
10 | 6B17B|HEXER ERIRETRE |H %R FTARAI7ILE 0.40 |14
11| 6B17B|BREBELFTE ERIRETRE (EEEIR FTARAI7ILE 0.42 |14
12 | 68178 |[EHEKFT ERIRET R RE | MR * 0.55 |145%kE
13 | 68178 |IHEBHF D RIRE ERIRET R RE | MR * 0.51 |145%kE
14 | 68178 AR ST ERIRETRE [/NE L FTARAI7ILE 0.46 |14
15 | 68178 |BETHERT ERIRET SR | LiEE FTARAI7ILE 0.25 |14
16 | 68178 [#8 L RIERRERT ERIRET R AE | LiEEFIL FTARAI7ILE 0.41 |14
17 | 68178 [(HRFERTEUN ERIRET R RE | R Al T 0.44 |147%kE
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21 | 68178|/\R =81 ERIRET A |FUH FTRAI7ILE 0.23 [147% 5
22 | 6R178|REREA BRIRETRRE (= BRF T 0.24 [147% 52
23 | 6B 178 | BIEEEHIS ERIRETRE [EEE T 0.22 (147552
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27 | 6A17B|/\RIZH] ERIRET R RE |FAGE FTARI7ILE 0.20 [1475%RE
28 | 6A17TH|EE -HEXER ERIRETRE [RiR FARI7ILE 0.15 |147% =
29 | 6A17H|/\RIZH] ERIRETRE [RIR FTARI7ILE 0.16 [1475%RE
30 | 6R17H|MAJIEXFRAE] BRIRETBERE (BE/ O FTARI7ILE 0.17 [1475%RE
31 | 6A1TH|HMEXRER ERIRETRRE (A FTARI7ILE 0.14 [1475%RE
32 | 6178 KIGFHT ERIRET R AE |G FTARI7ILE 0.14 [1475%RE
33 | 68178 |hEEShBHL L 4—Ehm (BRIRETRREE | SEERT TRI7ILE 0.17 [1475% 5
34 | 6R17H|XEHRAEHES ERIRETRRE |=RO FARAI7ILE 0.14 (14755
35 | 68208 |8 Bt ERIRETSERE |k hE * 0.20 |147%E
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36 | 68208 ;AR HLRTAT ERIRET IR RE |k EE FTRAI7ILE 0.13 |147%E
37 | 6R208 |/ \R{ZHI ERIRETERE |dLEFIR FTRAI7ILE 0.15 |147%
38 | 6A208 |bICHDizETEE ERIRETRERE [FBKIIIR FTRAI7ILE 0.19 |147%E
39 | 6R208|F v 715 ERIRET R AE |[LAEE T 0.27 |147%E
40 | 6208 |FRIRFEEBERF ERIRAT R RE |85 T 0.20 |[147%E
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42 | 68208 |EFELAE ERIRETEAE (A< A * 0.33 |147%E
43 | 6A20H [BLF4RLE SRIRETEE (R FTRAI7ILE 0.22 |147%E
44 | 68200 |MEEAFTIE ERIRET R (B LI FTARAI7ILE 0.22 |14
45 | 6A200 |fEsE %L ERIRETRRE (LUF FTARAI7ILE 0.26 |14
46 | 68208 |KATEE ERIRETRRE | LKE FTARAI7ILE 0.18 |14
47 | 6A208 [I5IELRETEIS ERIRETRRE |Uf FTARAI7ILE 0.12 |14
48 | 6A208 |BIWWIRIEBER ERIRETRRE = ILR FTARAI7ILE 0.21 |14




